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INTERMEDIATE EXAMINATION – 2023  (ANNUAL) 

Yoga & Physical Education 

I.A. (TH.) 

Time: 3 Hours 15 Minutes             
 

Full Marks
 

Instructions for the candidates :- 

1- ijh{kkFkhZ OMR mÙkj i=d ij viuk iz’u iqfLrdk Øekad ¼10 vadks dk ½ vo’; fy[ksaA 

Candidates must enter his / her Question Booklet Serial No. (10 Digits) in 

the OMR Answer Sheet. 

2- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give their answer in their own words as far as 

practicable. 

3- nkfguh vksj gkf’k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

4- iz’uksa dks /;kuiwoZd i<+us ds fy, ijh{kkfFkZ;ksa dks 15 feuV dk vfrfjDr le; fn;k x;k gSA 

15 minutes of extra time have been allotted to the candidates to read the 

questions carefully. 

 ;g iz’u&i= nks [k.Mksa esa gS]  ,oa

This question booklet is divided into two sections: Section-A, Section-B

Sub.Code:- 317 
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6- [k.M&v esa 70 oLrqfu"B iz’u gS] ftuesa ls fdUgha 35 iz’uksa dk mÙkj nsuk vfuok;Z gSA 35 

iz’uksaa ls vf/kd dk mÙkj nsus ij izFke 35 dk gh ewY;kadu gksxkA izR;sd Ikz’u ds fy, 1 vad 

fu/kkZfjr gSA lgh mÙkj nsus ds fy, miyC/k djk;s x;s x, OMR mÙkj i=d esa fn, x, 

lgh fodYi dks uhys @dkys ckWy isu ls izxk<+ djasA fdlh Hkh izdkj ds OgkbVuj@rjy 

inkFkZ@CysM@uk[kwu vkfn dk OMR mÙkj i=d esa iz;ksx djuk euk gS] vU;Fkk ijh{kk 

ifj.kke vekU; gksxkA 

In Section- A, there are 70 objective type questions, out of which any 35 

questions are to be answered. If more than 35 questions are answered, then 

only first 35 answer will be evaluated. Each question carries 1 mark. For 

answering these, darken the circle with blue/ black ball pen against the correct 

option on OMR Answer sheet provided to you. Do not use Whitener 

/Liquid/Blade/Nail etc. on OMR Answer sheet, otherwise the result will be 

treated as invalid. 

7-  [k.M& c esa 20 y?kqmÙkjh; iz’u gSaA izR;sd ds fy, 2 vad fu/kkZfjr gS] ftuesa ls fdUgha 10 

iz’uksa ds mÙkj nsuk vfuok;Z gSA blds vfrfjDr bl [k.M esa 06 nh?kZ mÙkjh; iz’u Hkh fn, 

x, gSaA izR;sd ds fy, 5 vad fu/kkZfjr gS] ftuesa ls fdUgha 03 iz’uksa dk mÙkj nsuk vfuok;Z 

gSA  

In section- B, there are 20 Short answer type questions, each carring 2 

marks, out of which any 10 questions are to be answered. Apart from this, 

there are 06 Long answer type questions, each question carrying 5 marks, out 

of which any 03 of them are to be answered.  
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8- fdlh rjg ds bysDVªkWfud&;a= dk iz;ksx iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly prohibited. 

SECTION- A 

Objective Type Questions 

 
iz'u la[;k 1 ls 70 rd ds iz’u ds lkFk pkj fodYi fn, x, gSa] ftuesa ls ,d lgh gSA 

vius }kjk pqus x;s lgh fodYi dks OMR -’khV ij fpfUgr djsaA izR;sd iz’u ds fy, 1 vad 

fu/kkZfjr gSA fdUgha 35 iz’uksa ds mrj nsuk gSA ;fn ijh{kkFkhZ 35 ls vf/kd iz’uksa ds mÙkj nsrk gS] rks 

izFke 35 mÙkjksa dh gh tk¡p gksxhA        [35x1=35] 

Question No.- 1 to 70 have four option, out of which only one is correct. You 

have to mark your selected options on the OMR – SHEET. Each question carries 1 

mark. Only 35 questions are to be answered. If the candidate answers more than 35 

questions, then first 35 answered will be evaluated.    [35x1=35] 

1- ch0,e0vkbZ dk vFkZ gSa& 

(A) ckWMh ekl bUMsDl   (B) ckWMh estj bUMsDl 

(C) ckWMh esfVªDl bUMsDl  (D) buesa ls dksbZ ugha 

B.M.I. means- 

(A) Body Mass Index  (B) Body Measure Index 

(C) Body Matrix Index  (D) None of these 
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2- lqczrks di fdl [ksy ls lacaf/kr gS\ 

(A) gkWdh    (B) QqVckWy 

(C) ’krjat    (D) fØdsV 

Subroto Cup is related to which game ? 

(A) Hockey    (B) Football 

(C) Chess    (D) Cricket 

3- foVkfeu ch&12 dk jax gksrk gS& 

(A) yky    (B) ihyk 

(C) dkyk    (D) gjk 

The colour of Vitamin B -12 is- 

(A) Red    (B) Yellow 

(C) Black    (D) Green 

4- j.kth VªkWQh fdl [ksy ls lacaf/kr gS\ 

(A) gkWdh    (B) QqVckWy 

(C) fdzdsV    (D) ’krjat 

Ranji trophy is related to which game ? 

(A) Hockey    (B) Football 

(C) Cricket    (D) Chess 
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5- izksVhu ’kCn fdl Hkk"kk ls fy;k x;k gS\ 

(A) xzhd     (B) jkseu 

(C) vjch    (D) laLdr̀ 

The word Protein is derived from which language? 

(A) Greek    (B) Roman 

(C) Arabic    (D) Sanskrit 

6- *yksuk* esa fdrus vad fn;s tkrs gS\ 

(A) 1     (B) 2 

(C) 3     (D) 4 

How many points are given in ‘Lona’? 

(A) 1     (B) 2 

(C) 3     (D) 4 

7- ckLdsVckWy [ksy dk tud fdl ns’k dks dgk tkrk gS\ 

(A) :l     (B) tkiku 

(C) Hkkjr    (D) ;w-,l-, 

Which country did the game Basketball originated ? 

(A) Russia    (B) Japan 

(C) India    (D) U.S.A 
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8- MsdkFkykWu esa fdrus Li/kkZ gksrss gS\ 

(A) 8     (B) 9 

(C) 10     (D) 12 

How many events are there in Decathlon? 

(A) 8     (B) 9 

(C) 10     (D) 12 

9- euq"; dk dadky fdrus gfÏ;ksa ls cuk gS\ 

(A) 210     (B) 206 

(C) 310     (D) 306 

How many bones make a human skelton? 

(A) 210    (B) 206 

(C) 310     (D) 306 

10- f’kjk esa fdl izdkj dk jDr izokfgr gksrk gS\ 

(A) ’kq) jDr    (B) v’kq) jDr 

(C) fefJr jDr   (D) buesa ls dksbZ ugha 

Which type of blood flows in veins? 

(A) Pure blood   (B) Impure blood 

(C) Mixed blood   (D) None of these 

11- fnYyh esa dkWeuosYFk xsEl dk vk;kstu fdl o"kZ gqvk Fkk\ 



7 
 

(A) 2010    (B) 1982 

(C) 2005    (D) 2009 

In which year, the Common Wealth Games were organized in Delhi? 

(A) 2010    (B) 1982 

(C) 2005    (D) 2009 

12- fuEu esa dkSu&lh izf’k{k.k dh lcls yach vof/k gksrh gS \ 

(A) eSØks lkbfdy   (B) ekbØks lkbfdy 

(C) estks lkbfdy   (D) lkIrkfgd 

Which of the following has the longest trainning period? 

(A) Macro cycle   (B) Micro cycle 

(C) Meso Cycle   (D) Weekly 

13- QkWlcsjh ¶ykWi fdl Li/kkZ dk dkS’ky gS\ 

(A) yEch dwn    (B) m¡ph dwn 

(C) f=dwn    (D) buesa ls dksbZ ughas 

Fosbury flop is a skill of which event? 

(A) Long jump   (B) High jump 

(C) Triple jump   (D) None of these 
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14- fdlds dkj.k ekuo jDr dk jax yky gksrk gS\ 

(A) foVkfeu&,    (B) foVkfeu&ch 

(C) gheksXykschu   (D) foVkfeu&lh 

Due to which, the human blood colour is red? 

(A) Vitamin-A   (B) Vitamin-B 

(C) Hemoglobin   (D) Vitamin-C  

15- **;ksx** ’kCn fdl Hkk"kk ls fy;k x;k gS\ 

(A) vjch    (B) fgUnh 

(C) laLd`r    (D) buesa ls dksbZ ugha 

The word ‘Yoga’ is derived from which language? 

(A) Arabic    (B) Hindi 

(C) Sanskrit    (D) None of these 

16- vR;kf/kd izf’k{k.k ds dkj.k gksrk gS\ 

(A) Fkdku    (B) fojke 

(C) LokLF; ykHk   (D) buesa ls dksbZ ugha 

Overtraining causes- 

(A) Fatigue    (B) Rest 

(C) Recovery   (D) None of these 
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17- Hkkjr esa [ksy fnol dc euk;k tkrk gS\ 

(A) 29 ebZ     (B) 29 twu 

(C) 29 tqykbZ    (D) 29 vxLr 

When Sports Day celebrated in India? 

(A) 29th May    (B) 29th June 

(C) 29th July    (D) 29th August 

18- ÝSDpj dk vFkZ gS & 

(A) gÏh VwVuk    (B) VsaMUk VwVuk 

(C) ul VwVuk    (D) buesa ls dksbZ ugha 

Fracture means- 

(A) Broken bone   (B) Broken Tendon  

(C) Broken Vein   (D) None of these 

19- *gkWdh dk tknwxj* fdls dgrs gS\ 

(A) ijxV flag    (B) feY[kk flag 

(C) estj /;kupan   (D) buesa ls dksbZ ugha 

Who is called as ‘Wizard of Hockey’? 

(A) Pargat Singh   (B) Milkha Singh 

(C) Major Dhyanchand  (D) None of these 



10 
 

20- dkSu lk ,d izk.kk;ke ugha gSa\ 

(A) dqEHkd    (B) vfgelk 

(C) Hkzkejh    (D) mTt;h 

Which one is not a Pranayama? 

(A) Kumbhaka   (B) Ahimsa 

(C) Bhramari    (D) Ujjayi. 

21- buesa ls dkSu ,d v"Vakx ;ksx ugha gSa\ 

(A) ;e     (B) fu;e 

(C) /kkSrh    (D) izk.kk;ke 

Which one is not Ashtanga Yoga? 

(A) Yama    (B) Niyama 

(C) Dhauti    (D) Pranayama 

22- 110 ehVj ck/kk nkSM+ esa ck/kk dh la[;k gksrh gS 

(A) 9     (B) 10 

(C) 11     (D) 12 

The number of hurdles in 110mt. hurdle race is- 

(A) 9     (B) 10 

(C) 11     (D) 12 
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23- dcÏh esa cksul vkSj ckWYd ykbu ds chp dh nwjh gksrh gSA 

(A) 1eh0    (B) 2eh0 

(C) 3eh0    (D) 4eh0 

The distance in between bonus line and baulk line in Kabaddi is- 

(A) 1mt    (B) 2mt 

(C) 3mt.    (D) 4mt. 

24- QqVckWy [ksy esa ,d ny esa f[kykfM+;ksa dh la[;k gksrh gS& 

(A) 7     (B) 8 

(C) 10     (D) 11 

The number of player in one team in football game is- 

(A) 7     (B) 8 

(C) 10     (D) 11 

25- izFke ,f’k;kbZ [ksy dgk¡ vk;ksftr gqvk Fkk& 

(A) Hkkjr    (B) phu  

(C) tkiku    (D) ikfdLrku 

First Asian Games were organized at- 

(A) India    (B) China 

(C) Japan    (D) Pakistan 
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26- [kks&[kks esa lhfVax CyWkd dh la[;k gksrh gS & 

(A) 7     (B) 8 

(C) 9     (D) 10 

The number of seating block in Kho-kho is- 

(A) 7     (B) 8 

(C) 9     (D) 10 

27- okWyhcky [ksy ds tud dkSu Fks\ 

(A) MOyw ekWxZu    (B) d.kZ flag 

(C) ,y fLeFk    (D) ts- iky 

Who was the inventor of the Volleyball game? 

(A) W. Morgan   (B) Karn Singh  

(C) L. Smith    (D) J. Pal 

28- y{ehckbZ jk"Vªh; ’kkjhfjd f’k{k.k fo’ofo|ky; LFkkfir gS& 

(A) fnYyh    (B) dksydkrk  

(C) Xokfy;j    (D) psUubZ 

Laxmi Bai National University of Physical Education is established at- 

(A) Delhi    (B) Kolkata 

(C) Gwalior    (D) Chennai 

29- isfj vks* czk;u LVkby fdl Li/kkZ dk dkS’ky gS\ 
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(A) yEch dwn    (B) xksyk Qsad  

(C) Å¡ph dwn    (D) f=dwn 

Parry O’ Brien style is a skill of which event? 

(A) Long Jump   (B) Shot Put 

(C) High Jump   (D) Triple Jump 

30- 400 ehVj VªSd esa LVªsV 80 ehVj gksus ij jfuax fMLVsal jsfM;l D;k gksxk\ 

(A) 30-10eh0    (B) 38-18eh0 

(C) 50eh0    (D) 18-38eh 

What will be the running distance radius of a 400 mt. track having 80 mt. 

straight? 

(A) 30.10 mt.    (B) 38.18 mt. 

(C) 50 mt    (D) 18.38 mt. 

31- **fycsjks** fdl [ksy ls lacaf/kr gSa\ 

(A) Vsful    (B) fØdsV 

(C) okyhckWy    (D) gkWdh 

“Libero” is related to which game? 

(A) Tennis    (B) Cricket 

(C) Volleyball   (D) Hockey 
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32- dcÏh ¼iq:"k oxZ½ eSnku dh eki gksrh gS& 

(A) 12-5 x 10 eh0   (B) 13 x 10 eh0 

(C) 12 x 8 eh0   (D) buesa ls dksbZ ugha 

The measurement of kabaddi (Men category) ground is- 

(A) 12.5 x 10 mt.   (B) 13 x 10 mt. 

(C) 12 x 8 mt.   (D) None of these 

33- lw;Z ueLdkj esa dqy fdrus vklu gksrs gS\ 

(A) 12     (B) 6 

(C) 20     (D) 5 

How many asanas are there in Surya Namaskar? 

(A) 12     (B) 6 

(C) 20     (D) 5 

34- QqVckWy dk vf/kdre otu D;k gksrk gS\ 

(A) 450 xzke    (B) 350 xzke 

(C) 375 xzke    (D) buesa ls dksbZ ugha 

What is the maximum weight of football? 

(A) 450 gm    (B) 350 gm 

(C) 375 gm    (D) None of these 
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35- Ekkuo ’kjhj dh lcls yEch gÏh gS& 

(A) Vhfc;k    (B) vyuk 

(C) Qhej    (D) buesa ls dksbZ ugha 

The longest bone in human body is- 

(A) Tibia    (B) Alna 

(C) Femur    (D) None of these 

36- ̂LihM Iys* dk laca/k gS 

(A) lfdZV Vªsfuax   (B) QkVZysd Vªsfuax 

(C) e/;akrj Vªsfuax    (D) buesa ls dksbZ ugha 

Speed play is related to- 

(A) Circuit training   (B) Fartlek training 

(C) Interval training  (D) None of these 

37- Lwk;Z dh fdj.ksa L=ksr gS& 

(A) foVkfeu&,    (B) foVkfeu&ch 

(C) fcVkfeu& lh   (D) foVkfeu&Mh 

Sunlight is a source of- 

(A) Vitamin- A   (B) Vitamin- B 

(C) Vitamin- C   (D) Vitamin- D 
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38- isaVkFkykWu esa fdrus Li/kkZ,¡ gksrh gS\ 

(A) 4     (B) 5  

(C) 6     (D) 7 

How many events in Pentathlon? 

(A) 4     (B) 5  

(C) 6     (D) 7 

39- ekuo ’kjhj esa vkSlr jDr dh ek=k gksrh gS& 

(A) 2 yh0    (B) 5 yh0 

(C) 10 yh0    (D) 20 yh0 

The average blood in human body is- 

(A) 2 lt.    (B) 5 lt. 

(C) 10 lt.     (D) 20 lt. 

40- vklu dh dqy la[;k D;k gS\ 

(A) 84     (B) 8400 

(C) 84000    (D) 8400000 

 Total number of asanas are-  

(A) 84     (B) 8400 

(C) 84000    (D) 8400000 
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41- igyk ;ksx fo’ofo|ky; LFkkfir gqvk Fkk  & 

(A) ukxiqj esa    (B) gfj}kj esa 

(C) fnYyh esa    (D) eqaxsj esa 

The first Yoga University was established at - 

(A) Nagpur    (B) Haridwar 

(C) Delhi    (D) Munger 

42- dkSu&lk vklu lkekU; jDrpki cukus esa lgk;d gSa\ 

(A) ’koklu    (B) in~eklu 

(C) ’kh"kkZlu    (D) ’kyHkklu 

Which asana is helpful to maintain Normal blood pressure? 

(A) Shavasana   (B) Padmasana 

(C) Sheershasana   (D) Shalbhasana 

43- /keuh esa fdl izdkj dk jDr izokfgr gksrk gS\ 

(A) ’kq) jDr    (B) fefJr jDr 

(C) v’kq) jDr    (D) buesa ls dksbZ ugha 

Which type of blood flows in Artery? 

(A) Pure blood   (B) Mixed blood 

(C) Impure blood   (D) None of these 
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44- izk.kk;ke v"Vkax ;ksx dk dkSu lk Hkkx gSa\ 

(A) izFke    (B) rhljk 

(C) NBk     (D) pkSFkk 

Pranayam is which part of Ashtanga Yoga? 

(A) First    (B) Third 

(C) Sixth    (D) Fourth 

45- *LVSxj fMLVsal* fdl [ksy ls lacaf/kr gS\ 

(A) QqVckWy    (B) ,FkysfVd  

(C) gkWdh    (D) ’krjat 

“Stagger distance” is related to which game? 

(A) Football    (B) Athletic  

(C) Hockey    (D) Chess 

46- ’kfDr fdrus izdkj dh gksrh gS\ 

(A) ,d     (B) nks 

(C) rhu     (D) pkj 

How many types of strength are there ? 

(A) One    (B) Two 

(C) Three    (D) Four 
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47- 10 Vheksa ds ukWdvkmV VwukZesaV es ckbZ dh dqy la[;k gksrh gS & 

(A) 4     (B) 7 

(C) 6     (D) 8 

Total number of byes in Knockout tournament for 10 teams are - 

(A) 4     (B) 7 

(C) 6     (D) 8 

48- LVsfM;ksehVj dk mi;ksx ----------- ekius esa gksrk gSA 

(A) otu    (B) Å¡pkbZ 

(C) yphykiu    (D) buesa ls dksbZ ugha 

Stadiometer is used to measure ……... 

(A) Weight    (B) Height 

(C) Flexibility    (D) None of these 

49- ̂M;wl* fdl [ksy ls lacaf/kr gS\ 

(A) ykWu Vsful    (B) gkWdh 

(C) fØdsV    (D) ’krjat 

“Deuce” is related to which game ? 

(A) Lawn Tennis   (B) Hockey 

(C) Cricket    (D) Chess 
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50- Vsd vkWQ cksMZ* dk laca/k gSa& 

(A) ÅWph dwn    (B) yEch dwn 

(C) xksyk Qsd    (D) buesa ls dksbZ ugha 

“Take off board” is related to- 

(A) High Jump   (B) Long Jump 

(C) Shot put    (D) None of these 

51- [ksy esa fdruh izeq[k uSfrdrk,¡ gSa \ 

(A) 2     (B) 3 

(C) 4     (D) 6 

How many Key ethics in Sports ? 

(A) 2     (B) 3 

(C) 4     (D) 6 

52-  Hkkstu esa dkcksZgkbMªsV ds ek/;e ls vko’;d dqy ÅtkZ dh ek=k gS 

(A) 35-55 %    (B) 40-60% 

(C) 45-65%    (D) 50-70% 

The amount of total energy required through carbohydrates in food is 

(A) 35-55 %    (B) 40-60% 

(C) 45-65%    (D) 50-70% 

53-  igyk fo’o di efgyk dcM~Mh izfr;ksfxrk dgk¡ vk;ksftr fd;k x;k Fkk \ 

(A) fnYyh    (B) dksydkrk 

(C) iVuk    (D) jk¡ph 



21 
 

Where was the First World Cup Kabaddi Women’s Competition 

organized? 

(A) Delhi    (B) Kolkata 

(C) Patna    (D) Ranchi 

54-  ih-oh- flU/kq fdl [ksy ls lacaf/kr gS \ 

(A) dcM~Mh    (B) gkWdh 

(C) cSMfeaVu    (D) ,FkysfVd 

P. V. Sindhu is associated with which game ? 

(A) Kabaddi    (B) Hockey 

(C) Badminton   (D) Athletic 

55- fØdsV xsan dk otu gksrk gS & 

(A) 149 xzke    (B) 152 xzke 

(C) 156 xzke    (D) 154 xzke 

The weight of cricket ball is  

(A) 149 gm    (B) 152 gm 

(C) 156 gm    (D) 154 gm 

56- vksyafid [ksyksa esa O;fDrxr Li/kkZ esa Hkkjr ds fy, igyk Lo.kZ ind fdlus thrk Fkk \ 

(A) vfHkuo fcUnzk   (B) ih- Vh- Å"kk 

(C) lq’khy dqekj   (D) feY[kk flag 
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Who won the first gold medal in individual event for India in Olympic 

Games ? 

(A) Abhinav Bindra  (B) P. T. Usha 

(C) Sushil Kumar   (D) Milkha Singh 

57- efgyk oxZ esa Hkkyk dk vf/kdre otu gksrk gS & 

(A) 300 xzke    (B) 400 xzke 

(C) 500 xzke    (D) 600 xzke 

The maximum weight of Javelin in Women’s category is- 

(A) 300 gm    (B) 400 gm 

(C) 500 gm    (D) 600 gm 

58- izFke vk/kqfud vksyafid [ksy vk;ksftr gqvk Fkk & 

(A) ,FksZl esa    (B) Hkkjr esa 

(C) phu esa    (D) tkiku esa 

The first Modern Olympic Games were organized in - 

(A) Athens    (B) India 

(C) China    (D) Japan 

59- 35ok¡ jk"Vªh; [ksy dgk¡ vk;ksftr gqvk Fkk \ 

(A) fnYyh    (B) jk¡ph 

(C) dsjy    (D) xksok 
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Where was the 35th National Games were organized ? 

(A) Delhi    (B) Ranchi 

(C) Kerala    (D) Goa 

60- usg: di izfr;ksfxrk lacaf/kr gSss & 

(A) gkWdh    (B) QqVckWy 

(C) fØdsV    (D) dcM~Mh 

Nehru Cup competition related to - 

(A) Hockey    (B) Football 

(C) Cricket    (D) Kabaddi 

61- VwukZesaV fdrus izdkj ds gksrs gSa \ 

(A) ,d     (B) nks 

(C) rhu     (D) pkj 

How many types of tournament are there ? 

(A) One    (B) Two 

(C) Three    (D) Four 

62- foVkfeu fdrus izdkj ds gksrs gS \ 

(A) ikuh esa ?kqyu’khy   (B) ikuh vkSj olk esa ?kqyu’khy 

(C) olk esa ?kqyu’khy   (D) buesa ls dksbZ ugha 
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How many types of Vitamin are there ? 

(A) Water soluble   (B) Water and fat soluble 

(C) Fat soluble   (D) None of these 

63- Hkkjr ljdkj }kjk nzks.kkpk;Z iqjLdkj fdls fn;k tkrk gS \ 

(A) f[kykM+h dks   (B) izf’k{kd dks 

(C) f’k{kd dks    (D) Nk= dks 

Who has given to Dronacharya Award by Govt. of India ? 

(A) Sportsperson   (B) Coach 

(C) Teacher    (D) Student 

64- ge dqfyax Mkmu dc djrs gSa \ 

(A) [ksy ds igys   (B) [ksy ds ckn 

(C) [ksy ds chp   (D) buesa ls dksbZ ugha 

When we do cooling down ? 

(A) Before the game  (B) After the game 

(C) Middle of the game  (D) None of these 

65- QqVckWy esa xksy iksLV dh Å¡pkbZ gksrh gS & 

(A) 2-44 eh-    (B) 2-45 eh- 

(C) 2-48 eh-    (D) 2-33 eh- 
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The height of the goal post in football is - 

(A) 2.44 mt.    (B) 2.45 mt. 

(C) 2.48 mt.    (D) 2.33 mt. 

66- eSjkFku nkSM+ dh nwjh gksrh gS & 

(A) 42 fd0eh0    (B) 42 fd0eh0 195 eh0 

(C) 43 fd0eh0    (D) 43 fd0eh0 195 eh0 

The distance of the Marathon run is - 

(A) 42 Km    (B) 42 Km 195m 

(C) 43 km    (D) 43 km 195 m 

67- fnYyh esa dkWeuosYFk xsEl dk vk;kstu fdl o"kZ gqvk Fkk \ 

(A) 1982    (B) 2005 

(C) 2009    (D) 2010 

In which year the Common Wealth Games were organized in Delhi? 

(A) 1982    (B) 2005 

(C) 2009    (D) 2010 

68- ySMj] fijkfeM] LikbMj osc fdl izfr;ksfxrk ds izdkj gSa \ 

(A) ukWd vkmV    (B) yhx 

(C) pqukSrh izfr;ksfxrk   (D) buesa ls dksbZ ugha 
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Ladder, Pyramid, Spider Web are types of which tournament ? 

(A) Knockout    (B) League 

(C) Challenge   (D) None of these 

69- vaxqfy;k¡ fuEu rRoksa dk izfrfuf/kRo djrh gS & 

(A) ty] i`Foh] varfj{k] ok;q] vkx (B) ty] i`Foh] varfj{k] ok;q] izk.k 

(C) ìFoh] yksdl] ok;q] vkx  (D) buesa ls dksbZ ugha 

Fingers represent the elements of  

(A) Water, Earth, Space, Air, Fire 

(B) Water, Earth, Space, Air, Pran 

(C) Earth, Locus, Air, Fire 

(D) None of these 

70- uhjt pksiM+k us fdl Li/kkZ esa vksyafid [ksy esa Lo.kZ ind thrk Fkk \ 

(A) xksyk Qsad    (B) Hkkyk Qsad 

(C) yEch dwn    (D) buesa ls dksbZ ugha 

In which event, Neeraj Chopra won gold medal in Olympic Games? 

(A) Shot Put    (B) Javelin Throw 

(C) Long Jump   (D) None of these 
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Section-B 

Short Answer Type Questions 

iz’u la[;k 1 ls 20 rd y?kq mÙkjh; dksfV ds iz’u gSaA buesa ls fdUgha 10 iz’uksa ds mÙkj nsaA izR;sd 

iz’u ds fy, 2 vad fu/kkZfjr gSaA         (10x2=20) 

Question no. 1 to 20 are Short answer type questions. Answer any 10 questions out 

of them. Each question carries 2 marks.      (10x2=20) 

1- ifjokj dh mi;ksfxrk dks fy[ksaA       2 

Write the importance of family. 

2- lsdsaM foaM D;k gSa\         2 

What is Second wind? 

3- izk.kk;ke ds rhu pj.k D;k gSa\       2 

What are the three phases of Pranayama? 

4- ’kkjhfjd f’k{kk esa usrk ds xq.kksa dks fy[ksaA      2 

Write the qualities of a leader in Physical Education. 

5- QkVZysd D;k gSa\         2 

What is Fartlek? 

6- Ikzf’k{k.k ls vki D;k le>rs gSa\       2 

What do you understand by training? 

7- ’kfDr ls vki D;k le>rs gSa\       2 

What do you understand by the strength? 
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8- Iksl jsl D;k gSa\         2 

What is Pace race?. 

9- vtqZu iqjLdkj D;k gSa\        2 

What is the Arjuna Award? 

10- vius fo|ky; esa LoLFk nkSM+ vk;ksftr djus ds fy, viuk,¡ tkus okys fofHkUu lksikuksa dks 

fy[ksaA           2 

Write different step to be followed for organizing a health run in your school. 

11- ;ksx D;k gSa\          2 

What is Yoga? 

12- LoLFkrk D;k gS\         2 

What is Wellness? 

13- Lkarqfyr vkgkj D;k gS \        2 

What is the Balanced diet ? 

14- Uksr`Ro dks ifjHkkf"kr fdft,A       2 

Define leadership. 

15- nqf'aprk ds nks dkj.kksa dks fy[ksaaA       2 

Write two causes of anxiety. 

16- jDrpki D;k gS\         2 

What is the Blood pressure? 

17- Okkrkoj.k dks ifjHkkf"kr djsaA       2 

Define Environment 
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18- ukWd&uh dks lgh djus ds fy, nks O;k;ke lq>kb,A    2 

Suggest two exercises for correcting Knock-Knee. 

19- izkFkfed mipkj D;k gS\        2 

What is First Aid? 

20- LVhp D;k gSa\          2 

What is Stitch? 

Long Answer Type Questions

iz’u la[;k 21 ls 26 rd nh?kZ mÙkjh; gSaA buesa ls fdUgha 3 iz’uksa ds mÙkj nsaA izR;sd iz’u ds fy, 

5 vad fu/kkZfjr gSaA          (3x5=15) 

Question no. 21 to 26 are Long Answer Type Questions. Answer any 3 questions. 

Each question carries 5 marks.       (3x5=15) 

21- *ØhM+k ,oa [ksydwn* esa ;ksx dh Hkwfedk dh O;k[;k dhft,A   5 

Discuss the role of Yoga in “Sports and Games”. 

22- ’kkjhfjd f’k{kk ds m)s’;ksa dk le>k,¡A      5 

Explain the objectives of Physical education. 

23- ldkjkRed [ksy okrkoj.k ds fuekZ.k esa n’kZdksa vkSj ehfM;k dh Hkwfedk ij fVIi.kh fyf[k,A 5 

Comment on the role of spectators and media in creating a positive sports 

environment. 

24- ’kkjhfjd {kerk vkSj LoLFkrk dks izHkkfor djus okys dkjdksa dks le>k,¡A 5 

Explain the factors affecting physical fitness and wellness. 
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25- ,d vPNs usrk esa dkSu&dkSu okaNuh; xq.k gksrs gSa \ o.kZu djsaA    5 

What are the desirable qualities of a good leader ? Explain. 

26- /kzqeiku dk f[kykM+h ds izn’kZu ij gkfudkjd izHkko D;k gS\ Li"V  djsaA  5 

What are the harmful effects of smoking on performance of sportsperson? 

Explain. 

 

 

 


